
 
INSTRUCTIONS FOR ASSEMBLY, USE AND MAINTENANCE 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Intended use: 
fixed office chair (visitor, conference, meeting, etc.) must be used only as intended by the intended use in 
compliance with the normal general precautions. 
In case of inappropriate use (e.g. instead of a ladder, sitting on armrests or with extreme one-sided loads), there is 
a risk of an accident. 
 
 
 

P a g . 1 | 4 

PHOTO 

• ART.406B FIXED SLED BASE, CHROMED, WITH NEOPRENE 
ARMRESTS, BLACK PLASTIC BACKREST 

 



 
INSTRUCTIONS FOR ASSEMBLY, USE AND MAINTENANCE 

P a g . 2 | 4 

 

 

 
 

AIRE JR ARMREST INTALLATION 

 

1. INSERT THE NEOPRENE ARMREST IN THE STRUCTURE PIPE AND TURN IT TO 
THREAD IT. 

AIRE JR BACKREST INSTALLATION 
 

2. TAKE THE PLASTIC BACKREST, INSERT THE STRUCTURE INSIDE THE BACKREST HOLE 
AND HAMMER IT WITH A RUBBER MALLET IN ORDER TO FIX THEM TOGETHER 

 

 

BACKREST AIRE JR 
 

N.B.: BY INSTALLING THE BACKREST,  
THE TRADE MARK MUST BE ALWAYS  
IN THE UPPER PART. 

 



 
INSTRUCTIONS FOR ASSEMBLY, USE AND MAINTENANCE 

P a g . 3 | 4 

 

 

 

3. FIX THE BACKREST TO THE SLED BASE WITH N. 2 TBL 6x20 SCREWS AND N. 2   

WASHER 6 mm HOLE 
 
 
 

 

4. INSERT COVER AS PHOTO ABOVE 

5. PUSH THE NEOPRENE ARMREST TOWARDS THE BACKREST BY TURNING IT CAREFULLY 

 
 



 
INSTRUCTIONS FOR ASSEMBLY, USE AND MAINTENANCE 

P a g . 4 | 4 

 

 

 

MAINTENANCE 
 
CHROME PARTS: Clean with a soft cloth lightly soaked in a steel cleaning product. 

 

PAINTED PARTS: clean with a soft cloth slightly moistened with water and then wipe with a dry cloth. 

 

PLASTIC PARTS: Use a soft cloth slightly moistened with water without insisting, then wipe with a dry cloth. 
 

ALUMINUM PARTS: For cleaning, use specific products for polishing metals, in order to slow down the natural oxidation due 

to contact with hands. The aluminum parts burn naturally. LUXY recommends not using aggressive detergents 
 

FABRIC: For fabrics, spread a few drops of neutral detergent on a well wrung damp cloth, wipe it gently on the seat and let it 

dry. See coverings sheets in the LUXY coverings folder. 
 

GLIDES/CASTORS: A variety of castors are available, for the sake of your safety and for use on different types of flooring in 

accordance with safety regulations:  

– Hard castors for soft flooring are optional  

– Soft castors for hard floors are standard 



        

 
ISTRUZIONI DI MONTAGGIO, USO E MANUTENZIONE 

P a g .  1 | 4 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 
 

 

 
 

Destinazione d’uso: Sedia fissa per ufficio (visitatore, conferenza, riunioni, attesa ecc..) deve essere utilizzato 
solo come previsto dalla destinazione d’uso nel rispetto delle 
normali precauzioni generali. In caso di utilizzo inappropriato (ad es. al posto di una scala, sedendosi sui braccioli 
o con carichi estremi unilaterali), sussiste il rischio di incidente.

FOTO 
  ART.406B FISSA TELAIO A SLITTA CROMATO C/BRACCIOLI 
IN NEOPRENE SCHIENALI COLORE NERO 



        

 
ISTRUZIONI DI MONTAGGIO, USO E MANUTENZIONE 

P a g .  2 | 4 
 

 

MONTAGGIO BRACCIOLO AIRE JR 

1. INSERIRE IL BRACCIOLO IN NEOPRENE NEL TUBO DEL TELAIO E RUOTARE PER 
INFILARLO. 

 

MONTAGGIO SCHIENALE AIRE JR 

2. PRENDERE LO SCHIENALE IN PLASTICA, INSERIRE IL TELAIO ALL'INTERNO DEL FORO 
DELLO SCHIENALE E BATTENDO CON UN MARTELLO DI GOMMA FARLI INCASTRARE 
FRA LORO. 

 

 

SCHIENALE AIRE JR 

N.B.: NEL MONTAGGIO DELLO SCHIENALE IL MARCHIO 
DEVE ESSERE RIVOLTO SEMPRE VERSO L'ALTO 



        

 
ISTRUZIONI DI MONTAGGIO, USO E MANUTENZIONE 

P a g .  3 | 4 
 

 

 

3. FISSARE LO SCHIENALE AL TELAIO A SLITTA CON N. 2 VITI TBL 6x20 E N. 2 RONDELLE DA 18 

FORO DA 6mm. 

 
 

4. INSERIRE TAPPO COPRI FORO COME DA FOTO SOPRA. 

 
5. PORTARE IL BRACCIOLO IN POLIURETANO ATTACCATO ALLO SCHIENALE IN PLASTICA 

FACENDOLO RUOTARE. 

 
 
 
 
 
 
 
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 



        

 
ISTRUZIONI DI MONTAGGIO, USO E MANUTENZIONE 

P a g .  4 | 4 
 

 
 

MANUTENZIONE 
PARTI CROMATE: Pulire con panno morbido imbevuto leggermente con un prodotto per la pulizia dell’acciaio. 
PARTI VERNICIATE: Pulire con panno morbido imbevuto leggermente umido d’acqua e ripassare poi con panno asciutto. 
PARTI IN PLASTICA: Usare panno morbido imbevuto leggermente con acqua senza insistere, ripassare poi con panno 
asciutto. 
PARTI IN ALLUMINIO: Per la pulizia impiegare prodotti specifici per la lucidatura dei metalli, al fine di rallentare l’ossidazione 
naturale dovuta al contatto con le mani. Le parti in alluminio bruniscono naturalmente. LUXY raccomanda di non usare 
detergenti aggressivi. 
TESSUTO: Per i tessuti stendere qualche goccia di detergente neutro su un panno umido ben strizzato, passarlo 
delicatamente sulla seduta e lasciarlo asciugare. Vedi schede rivestimenti nella cartella rivestimenti LUXY. 
ROTELLE / PIEDINI: Per la sicurezza dell’utilizzatore e per i diversi tipi di pavimentazione, sono disponibili, come previsto 
dalle norme di sicurezza, diversi tipi di rotelle: 
– rotelle dure per pavimento morbido; 

– rotelle morbide per tutti i pavimenti duri (di serie). 



ISTRUZIONI DI MONTAGGIO E USO 
INSTRUCTIONS FOR ASSEMBLY AND USE 

INSTRUCCIONES DE USO 
BEDIENUNGSANLEITUNG 

MODE D’EMPLOI 

GEBRUIKSAANWIJZING 

 

 

 

 
 

 



COD. 3ISTA AGG. 12/12/08 

 

 

 

 

 
 

 
 

 

PRODOTTA DA /MADE BY : 
LUXY SPA 
Strada Provinciale Almisano 6 
36045 Lonigo (VI) Italy 
luxy.com 
luxy@luxy.com 



1 

 

 

AIRE JR  
404B 

 

Seat Hinges 
 

 
 

 
 
 
 
 
 

 



2 

 

  

   
 

 
 

2x M6x30 

2x M6x35 

Hinge 1 * 

Hinge 2 * 

Hinge 1 

*Before to assembly, 

look the number on 

bottom side of hinge. 

1 

2 

Allen Key 

Hinge 2 



3 

 

 
 

 

 

Hinge 1 

1x M6x30 

1x M6x35 

Hinge 2 

1x M6x30 

1x M6x35 



4 

 

 
 

 

 

 
 

 
 
 
PRODOTTA DA /MADE BY / HERGESTELLT VON / PRODUIT PAR / PRODUCIDA POR: 

LUXY S.p.A. 
Strada Provinciale Almisano 6 
36045 Lonigo (VI), Italy 
luxy.com 
luxy@luxy.com 

 

http://www.luxy.com/
mailto:luxy@luxy.com


 

AIRE JR  
404B 

 
 

 
 

 

 



 
 

 

PRODOTTA DA /MADE BY / HERGESTELLT VON / PRODUIT PAR / PRODUCIDA POR: 
LUXY S.p.A. 
Strada Provinciale Almisano 6 
36045 Lonigo (VI), Italy 
luxy.com 
luxy@luxy.com 
 

NO 

 YES 

http://www.luxy.com/
mailto:luxy@luxy.com

